Please give step by step solutions skipping no steps no matter how minor.  Please include any information that will help me learn like pictures, etc.  I am an adult student trying to understand the best I can.  Thanks!

[image: image1.jpg]001 (part 1 of 2) 10 points
You drive a car 7 h at 46 km/h, then 7 h at
69 km/h.
What is your average velocity? Answer in
units of km/h.

002 (part 2 of 2) 10 points
What is your average velocity if you drive a
distance of 402.5 km at a speed of 46 km/h,
then the same distance at a speed of 69 km/h?
Answer in units of km/h.

003 (part 1 of 1) 10 points
Assume: 1.72 km/lap.

A race car is one lap behind the lead race
car when the lead car has 51 laps to go in a
race.

If the speed of the lead car is 53.6 m /s, what
must be the average speed of the second car
to catch the lead car just before the end of the
race (i. e., right at the finish line)? Answer in
units of m/s.

004 (part 1 of 1) 10 points

The velocity of the transverse waves produced
by an earthquake is 4.13 km/s, while that of
the longitudinal waves is 7.2688 km/s. A
seismograph records the arrival of the trans-
verse waves 83 s after that of the longitudinal
waves.

How far away was the earthquake? Answer
in units of km.

005 (part 1 of 1) 10 points
A reconnaissance plane flies 485 km away from
its base at 708 m/s, then flies back to its base
at 1062 m/s.
What is its average speed? Answer in units
of m/s.

006 (part 1 of 2) 10 points

A runner is jogging at a steady v, =
3.3 km/hr. When the runner is L = 8.6 km
from the finish line a bird begins flying
from the runner to the finish line at vy =
13.2 km/hr (4 times as fast as the runner).
When the bird reaches the finish line, it turns
around and flies back to the runner. Even
though the bird is a dodo, we will assume
that it occupies only one point in space, ie., a
zero length bird.
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How far does the bird travel? Answer in
units of km.

007 (part 2 of 2) 10 points

After this first encounter, the bird then turns
around and flies from the runner back to the
finish line, turns around again and flies back
to the runner. The bird repeats the back and
forth trips until the runner reaches the finish
line.

How far does the bird travel from the be-
ginning? (i.e., include the distance traveled
to the first encounter) Answer in units of km.

008 (part 1 of 1) 10 points

You plan a trip on which you want to average
a speed of 91 km/h. You cover the first half
of the distance at an average speed of only
57 km/h.

What must be your average speed in the
second half of the trip to meet your goal?
Answer in units of km/h.

009 (part 1 of 2) 10 points

The electrons that produce the picture in a
TV set are accelerated by a very large electric
force as they pass through a small region in
the neck of the picture tube. This region is
1.8 cm in length, and the electrons enter with
a speed of 100000 m/s and leave with a speed
of 1.5 x 10® m/s.

What is their acceleration over this 1.8 cm

length? Answer in units of m/s?.

010 (part 2 of 2) 10 points
HO\.V long is the electron in the accelerating
region? Answer in units of s.
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014 (part 1 of 4) 10 point _
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What is the velocity at 4 s? Answer in units
of m/s.

015 (part 2 of 4) 10 points
Calculate the magnitude of the position dis-
placement after the car travels the first 5 s.
Answer in units of m.

016 (part 3 of 4) 10 points
Calculate the position displacement after the
car travels from 9 s to 13 s, if the car does not
experience any acceleration during this time
period. Answer in units of m.

017 (part 4 of 4) 10 points
Calculate the magnitude of the car’s average
velocity from 5 s to 9 s. Answer in units of

m/s.

018 (part 1 of 1) 10 points
A ball is thrown upward. After reaching a
maximum height, it continues falling back to-
wards Earth. On the way down, the ball is

caught at the same height at which it was
thrown upward.

Neglect: Air resistance. The acceleration
of gravity is 9.8 m/s?.

Its initial vertical speed vy, acceleration
of gravity g, and maximum height Ay, are
shown in the figure below.
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If the time (up and down) the ball remains
in the air is ttrip, calculate its speed v ¢ when
it caught.

S = e e
6. vy = 4 gtirip 1.vp =2gtup
7.vf = glirip 2.v5 = thtrip
\/igt 3.v . gt
8. vy = —7 gltrip < Vf = —=Ggtuip
3 V2

4. vp = ﬁgttrip

1
5. vf = ggtm'p





